
2x

90970
8x14x0,2

90970
8x14x0,2

90990
8x14x0,5

Ord.No. 11/73 
Ø2,8 mm

10/08

90380
M3x5 (S)

90380
M3x5 (S)

72/32

72/32

72/40

75  
8x16x4

3,1x12x4,1

3,5x12x3

Semi-Scale Rotorkopf SKS 
Ord.No. 702/75

54/16

ca. 0,5mm

Parts whose Ord.No. is stated in full, e.g. 
(Ord.No. 47/11) are not included in the kit.

mit "Ord.No." versehene Teile sind NICHT 
im Bausatz enthalten!!

90990
8x14x0,5

Ord.No. 107/17

Ø4x120mm 

74/5
3x7mm 

Ø4x120mm

90080
M3x14

74/5
3x7mm 

90535
M4

79/9

M 3

90495
M3

097 (S)
M3x18

2x 060/6 (S)
M3x3

2x Ord.No. 90385
M4x4 (S)

84
3x10x4

75
8x16x4

90595
Ø3mm

90080
M3x14

90536
M5

31

107/17

90362 
M2,5x18

90080
M3x14

90810
3x5x0,5

Ord.No. 68/20

90595
Ø3mm

90080
M3x14

90065
M3x10 (S)

73/10 

060/2 
M3 (S)

060/2
M3 (S)

76/16

117/5 
M5x14 (S)

117/8

84
3x10x4

90810
3x5x0,5

2x 90820
3x6x0,1

90080 (S)
M3x14

75
8x16x4

Ø8,2mm

Ø8,0mm

117/6

057

117/4

(S) Ord.No.10/24

117/4

90595
Ø3mm79/9

90595
Ø3mm

90810
3x5x0,5

2x 90820
3x6x0,1

107/17

90065 (S)
M3x10

90810
3x5x0,5

90065 (S)
M3x10

4x 71/11
3x7x3

2x 060/6 (S)
M3x3

76/16

Ø8,2mm

75  
8x16x4

3,1x12x4,1

3,5x12x3

2x 90535
M4

90535
M4

90080 (S)
M3x14

ca. 0,5mm

117/5 
M5x14 (S)

90536
M5

2x

Ø8,0mm

057

117/6

117/8


